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But you derived benefit — DOITNSR N7

OVERVIEW

The X3 presented a query in the case where someone lived in another’s 9%n
without his knowledge (where it was 77371 777 [for he was a 23°n? 7°2v7 X123 and 77
qon RO [since it was a XKD Xn*p K77 1xn]), is the squatter obligated to pay the
landlord rent. On one hand the landlord suffered no loss, but on the other hand, the
landlord can claim to the squatter, but you derived benefit from me, so therefore
you are obligated to pay me. o010 discusses the claim of the landlord in light of
the fact that he was 7on X, and differentiates between this query and a dispute
elsewhere.

- (3, 97 'NINA N22T NNRP P99 VINT JNDY 199N

Even according to the one (727) who maintains in the first P99 of 2''2 n>on -
—*N98 AR 99 2139219 20170 N1 YY 1IN 19999

We force him (1v2%) not to act in the manner of 2170 and we give him (721X7)

his inheritance on one boundary, nevertheless -
— *157922 97191 NYNNN WNNAY 9190 MAY NIN INY

" The case there is where one of the sons (723%7) bought a property adjacent to one of his father’s properties. After
the father passed on, 721X1 asked that his share of the inheritance should include the (father’s) field which is adjacent
to his field. [The brothers (1wnw) claim that we have the right to divide the estate by a lottery; if you wish we can
relinquish this right by assessing the adjoining estate at a higher value (it is certainly worth more to that brother).]
There is a dispute there between 1727 who maintains that we give him the field (since 2170 n ¥ 1913 [see footnote #
2]), and nov 21 who maintains that they can raise the assessment of that field (for 1111 12 27 °0315 2 11991 [see
footnote # 6]) and refuse to give him that field at the regular market assessment (and insist on a lottery).
% In makes no difference to the brothers (1ynw) where 12IX1 receives his inheritance, they will neither lose nor gain if
he inherits the adjacent field. However they feel they can pressure 12187, by (unrealistically) raising the assessment
of that field, causing a loss to 12187. This type of conduct, of not allowing someone else to benefit from your assets,
even though it causes you no loss is 0170 N, as the 7Iwn states in "7 7" May, that he who says "1 72w Towy Hw Hw
0170 N7 AT,
? The question here is (according to 727), why do we not say here as well that 2170 172 9 1912 and the squatter is
M1, since the landlord is not losing anything; why should he care if someone else is gaining. This is a 0170 n7!
* We give him his inheritance (according to the market value) adjacent to the property he purchased so that the
borders coincide X7X¥n K.
> The discussion of 7or 8% 7M1 7371 77 is only post facto, whether the squatter needs to pay when the landlord realized
that he lived on his property without permission; however initially (or at any time), the landlord can evict the
squatter from his property. No one has a right to use someone else’s property without his permission. Therefore in
our case it may not be considered a 0170 n7», for since the landlord has the right to prevent him, he also has the right
to collect rent if he lived there without his permission. However there 12187 is not asking them to use their property
(it does not belong [exclusively] to them; it is part of the estate), 1721%7 only wants to take his portion where it is
beneficial to him and not detrimental to them, therefore we are 2170 N7 Y 1751,
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Here it is different from there, since the landlord could have initially prevented

the squatter from living in his house -
= 599999 924 59935 199 1359 DNN VINT NP

And according to the one (70 27) who maintains there, that the brothers can

say we assess that property as if they were the assets of 119912 92, nevertheless it

does not prove that 101 27 maintains here that the squatter must pay -
- 97 939 X951 YaX 19323 N7 NN 19530 ¥INY 01T BIUN

Because there they can prevent him from receiving his desired property for the
market value, since it is similar to the case of a landlord who can initially
prevent a squatter from living in his house, however here the squatter already
lived there; the question is if he has to pay, perhaps o1’ 27 agrees that he is not required to
pay.

In summation: On one hand, there 127 is asking of them only to relinquish their right of a
lottery in the inheritance (but not their ownership), since they do not own it (so we say ¥ 1"913
0170 n71); however here he is using the property which belongs to the landlord (therefore he has
to pay). On the other hand, there he is asking them to initially give up their rights (they may be
not required to do so); however here it is post facto (therefore he need not pay).

nvoIn asks:
= (3,5 97 mams) IV YN Y99 “:w’b:m £33 99%20 Y ANNT NIND 9INRN ON)

And if you will say; that case in the beginning of n1mw1 %8 715, where a friend

stuck something down his throat, where the rule is that he is 21 if he ate it. But -
= 095 MY PN "RoNNmY NNSN TN N5N BRY XIN 10N XY A1 N3N NT 9NN 2950 SNNN

Why is the eater (1Wwnw) 29m; it is a case of 2on KY 71 M3 773 for if the eater
(1mynw) would have thrown it up and not eaten it, it would be nauseating and
worthless, so why should 11v»w be 21 if we assume that 17"217 is 057!

% See 77 11991 "7 2,2> 2"2 "0 who writes that the 11 7 (°32) were wealthy and they would not sell their fields for
the market value, but rather would demand a very high price. Similarly the brothers (179»w) are saying to j21X7 if you
want this adjacent field you can have it only for a high price (above the market value).
7 The brother (j21%7) did not as of yet receive the adjoining property (he wants to receive it), therefore since he did
not inherit it yet, they may be justified in preventing him (just as a landlord is justified in not allowing anyone to live
on his property and it is not 2170 n7n), however once someone lived there already, the landlord has no right to
demand payment, since he did not lose anything.
¥ The case there is where 12387 stuck food (which belonged to *2) down the throat of 1Wwnw. The rule is that if nWwaw
swallowed it (and did not throw it up); 179nw is 21 to pay 17 for the food.
? nwnw did not take anything from " (it was 123%7 who took it and put it down his throat), the only reason to hold
1w liable is because he swallowed it and did not return it. However even if 17w»w would have returned it, it would
be worthless, so Y2 did not lose anything by 1wnw swallowing it, therefore even though 1Wwnw was 17171, but 12 was &>
10 from sYnw benefit.
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N1B0IN answers:
- 19NIN NPAY PIDND NPNN NINI NN 31T YT Y W

And one can say that the X3 in M7yl 19X is not similar to n"71ar, since the

benefit was derived on account of the initial loss. This case -
- Brpanaw A ovwn Znanan 7ion Fpng XAR "0 0

Is similar to that which we learnt in a /w»; if the animal ate from the square,

he pays what she benefitted, even though -
- ©%290 MY W 1T ¥a9nm KY NOIYINT

That she is not liable for chewing the food, since it is & in a 2" -

101959 MY PN 1NN ORY 29 YY 4N 2511 1991 IXINN NIN
But rather the liability is because of the benefit to its intestines, and seemingly
the owner of the food is not a 701 for even though if she would regurgitate it, it
would be worthless, nevertheless he is 217 for 1"¥» nX17, since it came as a result of a 7or.

SUMMARY

The query of n'"711r is when one already used the property of another, but not when
one is asked to initially relinquish his (potential) rights. 701 731 7371 77 1s even if the
7011 in not a direct result of the 71171 (but preceded it).

THINKING IT OVER

In the case of 712177 707, the animal caused the 170m, by eating it, it is exempt
from paying for this 11701 since it 1s 7"1772 W, but nevertheless it caused the 117om,
therefore it is understood why he pays for v¥» nxi7. However by 1°ar 1% ann, the
1101 was caused by 17271, not by the one who ate it (for it was already worthless).
How can mooin compare these two cases?! '

' This is not case of 7", for the owner of the food is 7on (his food has been destroyed); it is merely that the Y2
did not cause the 11101 (his friend stuffed it down his throat). n19010 maintains that when there is a 177017 and a 737,
even though the 773711 did not cause (or is not liable) for the 11701, nevertheless since he is 73711 from a 117017 he is 211.
See footnote # 15.
o,
"2 The 71am1 is the town square which is a 1"7.
13 X317 considers this to be a case of "> (see immediately on this TY).
'* While the animal was chewing the food (and making it inedible) he is not liable, since it is 1"772 1w which is T12.
' The payment is due for the benefit which the animal received; for it is satiated (it does not need to eat). However
this 1837 was after the food was already worthless, so it is a n"?1111, and nevertheless he is 21. This proves what
moon previously stated that if the X1 comes on account of the 11701 he is 211 (even though he is not liable for the
110m). See footnote # 10.
'® See m3m 7"72 28 MR DI M AL
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